ot J"oA BAC = 90° o],
BCLAHOo|th, /CAH = x@t & o,
tan x 9] gE2?

3 4
@3 ® 3

5
® 5

@
@

S| W | N

AC=V152-122=9
AABC O AHAC (0 AA B2)

9 3
— /ABC O|E2 tanx = — = -
X VA C ] tan x 12 4




the 284 AC = 12¢m , /B = 60°
d o, 2442 ABC o =89] Z4o]

19

@ 12(V2-1)cm
@ 12(V2+1)cem
® 6(V3+1)cm
@12(v3+1)em
® 12(V3-1)cm

grlof thet f57Ee] 37]+= 90° o] B & LACB = 90°
S 12
B = oo = 8 V3(em)
BC = cos60° x 8 V3 = 4 V3(cm)
- (A7 ABC 9] B39 Zo])
=AB+BC+AC
=8V3+4V3+12
=12V3+12
= 12(\/§+ 1) cm




oS 298 HEFPE 9o WA S| Zo]
711 AR AHE A A L g
@ Aoltt, AM [, mo x ZitolE | /
Z}ro = - A !
dzto] 2718 A7 A, Bt @ W, tanB 4] SN L7
o] gh2? A==/
B | |: !
| I
At
@ Y2 @ Y4 @ X1 0 Ty Ty Ty
@ xy ® x3
tanBzEZE:y4
oT 1 Y m
Ysp = === ===
1 :V
Q | l
T 28
Yob — — = __‘l_ T |
===l I
i/ ::U :
A, Ut
0 S@)t!l % «
R




0°<x<45° 4 o, V1 -2sinxcosx— V1 + 2sinxcosx & 7S]

sholat,

0°<x<45° Y W], 0 <sinx < cosx O|B&2

V1 —2sinxcosx — V1 + 2sin xcos x

= \/sin2x+coszx— 2 sin x cos x

— v/sin? x + cos? x + 2sin x cos x

= /(sinx — cosx)? — /(sin x + cos x)?
= —(sin x — cos x) — (sin x + cos x)
= —2sinx




214 12x 4 5y—60 = 0 0] x &1} o] F= oz}

Y
o) Z71E a2t T W, sina x cosa x tana 2] “
= otofet
a5
0 \
> E
T
169

B

12
25 12x+5y =60 = 0=y =——x+12 olm =2

e} o] ¥ gl=k
o = o) - DR TR (@nrws Al - 2

(o] 5T

o]j_!
Wiio] 5, o]} 12 olm2 HIHE VBT 1% — 13 olth.
12 5
2hA] sinag = 13,cosa = 3 O]|B = sina X cosa X tana =
12 5 12 144

— S __ —__ 0
3X13%% =169 I




1 cos? A — cos? (90° — A)
t A:_ o] o
an 2 . 14+ 2cosA xcos(90°—A) °l
1 1 1 1
°o; @; o7 o5

)

rlo

O =

cos(90°—A) =sinA
sin?x +cos’x =1 °|B 2
cos? A —sin A
cos2 A + 2cosA X sinA + sin’ A
(cosA + sinA)(cosA —sinA)

(cosA +sinA)?
cosA —sin A
== (v A+sinA #0
cosA + sin A (+ cosA +sind #0)
sin

cosA 1—-tanA
sinA = 1+ tanA
CcosA

(%M =

1+




